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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), page 1/2
N~ N\
X Y z X y L* a* b* a b’ OYLCVM_ONW_0
o H0 ) ¢ ¢ g
@@ |[CIE llluminant E Bc
%g 61.49 35.75 0.03 0.632 0.367 66.3 70.3 113.7 0.2581 -0.0089 %O=JR 00575_770 T w
g-:. 83.16 86.74 1.54 0.485 0.505 94.6 -6.6 1409 0.2124 -0.0224 %Y=J=JG+JR 01515 770 SE
Q= . g . . . . -99. R 8 -0. oL=. ! =2,
3 21.66 50.98 1.5 0.292 0.687 76.6 99.1 1104 0.1619 -0.0266 %L=JG 02 515 575 ﬁ
53 [B5 2504 1107 019 0561 571 -953 30.0  0.1502 -0.0656 %Gs 03 0,35°JG+0,65*BG S2
So 141 11.08 16.22 0.049 0.385 39.7 -119.2-13.0 0.1084 -0.0978 %Cs=BG 04 475 515 o8
g“ 16.83 13.25 98.45 0.13 0.103 43.1 211 -96.9 0.2333 -0.1681 %V=B=BR+BG 05 380_515 =0
m8 15.41 2.17 82.23 0.154 0.021 16.3 1285 -131.5 0.4139 -0.2892 %Ms=BR 06 380_475 2-:5
M gg 55.04 31.05 11.54 0.563 0.318 62.5 71.1 38.0 0.2607 -0.0619 %Rs 07 0,14*BR+0,86*JR 2N b
S . A . . . . . A . -0. 00=. _ B
61.49 35.75 0.03 0.632 0.367 66.3 70.3 113.7 0.2581 -0.0089 %O=JR 08 575_770 s
:,3 0.1 0.1 0.1 0.332 0.332 0.9 0.0 0.0 0.2154 -0.0861 %NO( =0,001) 09 380_770 =3=1
£T [100.0 100.0 100.0 0.333 0.333 100.0 0.0 0.0 0.2154 -0.0861 %W1( =1,000) 10 380_770 Sg
<= [CIE Standard llluminant D65 L
® |54.81 3231 0.03 0.628 0.37 636 730 109.1 0.2613 -0.0087 %0=JR 00 575_770 :‘E
3 |76.89 8527 1.63 0469 0.52 940 -82 1402 0.2116 -0.0224 %Y=)=JG+JR 01515 770 343‘
S5® [22.07 5296 1.6 0288 0.69 778 -97.1 1127 0.1636 -0.0261%L=JG 02515 575 23
N S”g 8.78 26.49 1251 0.183 0.554 58.5 -95.0 31.2 0.1516 -0.0652 %Gs 03 0,35*JG+0,65*BG am
161 12.23 18. .05 0.379 415 -119.5-11. 1116 -0.0959 %Cs=B 04 475 515 s
;?;-3 6 2.23 18.38 0.0 379 9 2 0 6 —0.0959 %C: G mf,
53 18 ) .250. . . 9 -93, . -0. 6V=B=BR+ ) | El
S a1 isein i B2 9wy, S Sl o e :
25 [16.52 2.4 . 1153 0. 17.8 1332 -1285 04121 -0.276 %Ms=BR 475 @
%§ 49.45 28.13 12.47 0.549 0.312 60.0 745 339  0.2644 -0.0638 %Rs 07 0,14*BR+0,86*JR EE
Q5 [54.81 32.31 0.03 0.628 0.37 63.6 73.0 109.1 0.2613 -0.0087 %O=JR 08 575_770 o4
% (009 01 01 0311 0327 09 00 0.0 0.2154 —0.0861 %NO( (3=0,001) 09 380_770 k)
= X . X . . . . . . -0. 0) =1, ) S~
%m 95.04 100.0 108.890.312 0.329 100.0 0.0 0.0 0.2154 -0.0861 %W1 1,000) 10 380_770
| S2 [CIE iluminant D50 83 -
SE 60.96 354 0.03 0.632 0.367 66.0 754 113.1 0.2613 -0.0094 %0O=JR 00 575_770 Qm
on
2N [82.98 87.33 1.55 0.482 0508 94.8 -2.3 137.9 02143 -0.0239 %Y=J=JG+JR 01515 770 3
»o 2202 5193 1.51 0.291 0.688 77.2 -96.2 107.9 0.1638 -0.0282 %L=JG 02 515 575 o
g@ 8.58 25.16 10.63 0.193 0.566 57.2 -92.3 252  0.1523 -0.0689 %Gs 03 0,35*JG+0,65*BG ES
o 1.35 10.74 15.54 0.049 0.388 39.1 -117.0-19.5 0.1093 -0.1039 %Cs=BG 04 475 515 S 4
»o (13144 12.66 80.94 0.125 0.118 42.2 8.1 -98.2 0.2224 -0.1705 %V=B=BR+BG 05 380_515 0 C
QE 12.08 1.91 65.39 0.152 0.024 15.0 116.5 -131.6 0.4032 -0.2982 %Ms=BR 06 380_475 S
L -’..-_{ 54.11 30.71 9.18 0.575 0.326 62.2 75.0 38.7 0.2633 -0.0614 %Rs 07 0,14*BR+0,86*JR 6;
23X 160.96 354 0.03 0.632 0.367 66.0 754 113.1 0.2613 -0.0094 %O=JR 08 575_770 ==
@
g—l 0.09 0.09 0.08 0.344 0.357 0.9 0.0 0.0 0.2154 -0.0861 %NO =0,001) 09 380_770 0=
B3 [96.42 100.0 82.49 0.345 0.358 100.0 0.0 0.0 0.2154 -0.0861 %W1 =1,000) 10 380_770 =
=5 g
a* =500 [ (X/ %)= (Y11 b*=200[(Y/I¥)"~(2/1Z)"®] a=(1/%,)"(x/y)"? b=-04(12,)"(z/1y)"? (X, Y, Z2 0,89) =3
=500 @ - a,) Y"* =500 @' - b,) Y* =0,2101 & /y)*® =-0,08376 ¢/ y)® CIELAB for n=D65 %.
3
%Tus»test chart JE47; CIE data of optimal colours input:w setgray )
For illuminants E, D65 and D50: RGB*=575, 515, 475nm___output: no change compared to i
< T v o T




